

$m > 0 \iff m = \frac{r}{2} \delta$
 $\boxed{m = \frac{r}{2}}$ $- \frac{r}{2} \delta$
 $-\frac{\Delta}{\epsilon a} = \gamma = \frac{-\frac{r}{2} \delta + \epsilon(\delta m - 1)m}{\epsilon m} = \frac{r}{2}$
 $\text{نقطة تقاطع} \rightarrow \frac{-b}{\epsilon a} = \frac{m}{\gamma} = \boxed{\frac{r}{2}}$
 $\text{نقطة تقاطع} \rightarrow \frac{-b}{\epsilon a} = \frac{m}{\gamma} = \boxed{\frac{r}{2}}$
 $\text{نقطة تقاطع} \rightarrow \frac{-b}{\epsilon a} = \frac{m}{\gamma} = \boxed{\frac{r}{2}}$

$\rightarrow \alpha \beta = \alpha^r = \frac{r}{2} \rightarrow \alpha^r = \frac{r}{2} = \frac{r}{2} - 1$
 $\alpha^r = (a+1) \epsilon \quad (a-1)^r = 1$
 $(a=1)$
 $\alpha^r + \epsilon(a) \alpha^r (r-1) = \delta m^r + \epsilon a \delta = \delta$
 نقطة تقاطع

$m^r = \epsilon$
 $\epsilon^r - \frac{r}{2} \epsilon - \delta = 0 \rightarrow \epsilon = \frac{r \pm \sqrt{r^2 - 4\delta}}{2} = m^r$
 $\rightarrow m = \frac{r \pm \sqrt{r^2 - 4\delta}}{2} \rightarrow \delta = 0$
 $\delta = 0 \rightarrow \epsilon = \frac{r}{2}$
 $\epsilon = \frac{r}{2} \rightarrow \delta = 0$
 $\epsilon = \frac{r}{2} \rightarrow \delta = 0$

$\frac{-b}{\epsilon a} = \frac{-\frac{r}{2}}{\epsilon k} = \frac{r}{k}$
 $\frac{-b}{\epsilon a} = \frac{-\frac{r}{2}}{\epsilon k} = \frac{r}{k}$
 $\frac{-b}{\epsilon a} = \frac{-\frac{r}{2}}{\epsilon k} = \frac{r}{k}$
 $\frac{-b}{\epsilon a} = \frac{-\frac{r}{2}}{\epsilon k} = \frac{r}{k}$

$-m \epsilon^r + m \epsilon^{r+1} \neq -m - 2$
 $-m \epsilon^r + m \epsilon^{r+1} + m + 2 \neq 0$
 $-m \epsilon^r + m \epsilon^{r+1} + m + 2$
 Δ
 $\epsilon = \frac{r}{2}$
 $\epsilon = \frac{r}{2}$
 $\epsilon = \frac{r}{2}$